
Absolute value of an integer

1. Give the value of the following.

A. | 4 | = ____  

B. | -20 | = ____  

C. -| 15 | = ____  

D. -| -12 | = ____  

E. | - (-6) | = ____  

2. Find the value of the following.

A. | -5 | + | -5 | = ______ 

B. | 16 | + | -4| = ____ __ 

C. | 6 - 4 | = ____ __ 

D. | 10 + 4 | = ____ __ 

E. | 15 | - | -5 | = ____ __ 

F. | -8 | + | -5 | = ____ __ 

G. | ( -8) + ( -12) + (12) | = ____ __ 

H. - | ( - 35) + 25 ) | = ____ __ 

I. | ( -18) | + ( -15 | = ______ 

J. | (6) + ( 24) | + | (3) + ( -4) | = ____ __ 




